20258 = =0k LBts]

H & 0l & AHS B Ml A

H BEQI2 1

SA ZEel21
Ha: HEFMER
el HEEHFN EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fdel+ 12,998,505 13,324,189 A325,684
= 2,201,900
[ 161,088
Jl 575,001
< 4,448,389
Al 5,612,037
@AM 36,510 306,050 A269,540
FHYHTA 16,110 6,050 10,060
FEEM I8t &4 16,110 6,050 10,060
201 fet=23y| 10,910 4,550 6,360
01 AtR2te|HI 10,910 4,550 6,360
OFEEMRARS 3|9 A=Y
70,0002 * 13 22| x50f% 910
OFHIHARS 29
1,000,000& x22] *50% 1,000
OFIEM HAHE M=
10,0002 *500% 5,000
OBEE HEANM B85 XN M wor
10,0002 * 100 1,000
OFEdH HESRD 29
3,000,000 14| 3,000
202 04l 1,200 1,500 A300
01 =LHOHI 1,200 1,500 A300
OFHEH gF =4 04|
200,000 x3E *23] 1,200
301 EtE NS 4,000 4,000
14 J|Et2a s 4,000 4,000
OFHEHM HERAD 22 BA=+E
20,0002 x50 *43] 4,000
&y 292l 20,400 300,000 A279,600
FE&H 232¢el 20,400 300,000 A279,600
201 Ler23 | 20,400 0 20,400
01 At2teltl 8,400 0 8,400
O=RelHl b= 150,000& * 12043 1,800
OsdJl RAl2c HIS
200,000 * 12042 2,400
Od=J| 2el HI& 50,000 * 1204 & 600
O2g ¢ 22 85 g
300,000& * 12043 3,600
02 S3=gHl 12,000 0 12,000
OXII23 800,000 <1204 9,600
Odotr = 100,000&* 1204 1,200
OClEY Sd 2= 100,000 *129HE 1,200
FEXEFA 2,451,722 4,536,224 2,084,502
= 774,900




FA FEel2u

Zu: FENRE
ol FEXE=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 161,088
=S 408,497
Al 1,107,237
FENAF=N 2,169,057 4,136,224 A1,967,167
= 774,900
= 161,088
< 408,497
Al 824,572
FEXE g2 =8 2,700 3,000 A300
201 er23| 1,500 1,500 0
01 At2t2ltl 1,500 1,500 0
OFUEXIZAY EEE(RER ) HH
5002 +6, 0000H*12/*50% 1,500
202 048l 1,200 1,500 A300
01 2L A 1,200 1,500 A300
OHEXE 22 7 o/
200,000 x3H *23] 1,200
20258 HEHEA NEAAS 882,900 914,800 A31,900
= 774,900
Al 108,000
307 lztol & 882,900 914,800 A31,900
= 774,900
Al 108,000
02 2IZHBYAIHE £ 882,900 914,800 A31,900
02025 HET A XA
882,900,000 x 14 882,900
= 774,900
Al 108,000
SR0120] 2.0 g Xiel Z2HE 114,606 1,190,470 1,075,864
= 61,185
=S 24,542
Al 28,879
308 AtXIEMSOIE 114,606 1,190,470 1,075,864
[ 61,185
= 24,542
Al 28,879
183 S| 2SS A AIE 114,606 1,190,470 1,075,864
SF0/20] 2.0 3E2N| ZZHE
114,606,000 * 14! 114,606
[ 61,185
= 24,542
Al 28,879
Y 022 2dA Z2HE 70,133 313,133 A\243,000
[ 30,078




2A:

U EP S
ol FEXE=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,410
Al 21,645
308 XXM SOIA 70,133 313,133 243,000
= 30,078
== 18,410
Al 21,645
13 SV 12S0He 4 A AS A 70,133 313,133 243,000
OFd =2 Scla Z2HE
70,133,000& x14] 70,133
= 30,078
== 18,410
Al 21,645
KNSSstate orEs L XICI ALY 71,59 140,000 68,405
s 37,180
== 15,884
Al 18,531
308 AXIHMSO0IA 71,595 140,000 A68,405
= 37,180
= 15,884
Al 18,531
183 S| 2SO ZB XA AIE 71,595 140,000 A68,405
OXgSahntd StE FHNCIAIE
71,595,000& *14] 71,59
[ 37,180
= 15,884
Al 18,531
- dCISEEH 2435 222,400 222,400 0
< 14,700
Al 207,700
201 2= 3,400 3,400
2 S5=2g4l 3,400 3,400
OFHLcISEHH SHOIX RX2eldl
283,330 * 122 3,400
307 el2tol & 219,000 219,000 0
= 14,700
Al 204,300
02 QI AAEE X 49,000 49,000 0
OzdgicISedE 2dst XA
25,000,000 * 14! 25,000
== 7,500
Al 17,500
OFdE LAl SEHE 2lAH| XI&AS
24,000,000 » 14 24,000
= 7,200




SA ZEel2
Zu: FENRE
ol FEXE=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,800
05 git?(& = 170,000 170,000 0
OFEANRISHE SIS
170,000,000 * 14! 170,000
Sxg Fd Fg N3 50,000 50,000 0
308 XXM SOIH 50,000 50,000
18 SIS0t 4 A AS A 50,000 50,000
O=Zg 4 &Y N3AL
50,000,000& » 14 50,000
349 5|2 LES=S S8 MY 297,747 190,716 107,031
=S 170,141
Al 127,606
301 EtE NS 297,747 190,716 107,031
< 170,141
Al 127,606
14 JIEt2 8= 297,747 190,716 107,031
OFYH 32 UES=E ST A
297,747 0003 x14] 297,747
= 170,141
Al 127,606
dg Fd 2E58eis A3AY 225,450 111,000 114,450
=S 100,500
Al 124,950
307 21201 & 225,450 111,000 114,450
== 100,500
Al 124,950
02 LB HANHEE 225,450 111,000 114,450
Odlg 34 2=58els AEAE
225,450,000 x14] 225,450
= 100,500
Al 124,950
SE JHIYELN SE(BERE)NE ALY 50,000 100,000 50,000
306 £ 50,000 100,000 50,000
01 2d= 50,000 100,000 /50,000
O=ZE ¢ ZEL S8(BXE) N
50,000,000& *14! 50,000
g FHYX =AUl XNE At 121,920 160,800 /38,880
< 64,320
Al 57,600
301 EtE NS 121,920 160,800 /38,880
= 64,320
Al 57,600
14 DBt 2 a=S 121,920 160,800 38,880
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NE: HEXREX
ol FEXE=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFY HYX =HEl XI& At
121,920,000 *14] 121,920
= 64,320
Al 57,600
SHAl 43t HE T LAl A 56,606 297,800 A241,194
[ 32,645
Al 23,961
307 212+01& 56,606 297,800 A241,194
= 32,645
Al 23,961
02 LB HAHE L 56,606 297,800 N241,194
OSZAl 4xtetd HEH & AelAr
56,606,000 »14] 56,606
= 32,645
Al 23,961
ANSGatd FHLXe| HE ALY 3,000 6,000 A3,000
301 EetE NS 3,000 6,000 A3,000
11 #AIAHIXIE S 3,000 6,000 23,000
OXgad ALl FE At
100,0002 x102*32 *13] 3,000
4y 29 282,665 400,000 A117,335
FEEY CIFHO0E =SS =4 282,665 400,000 A117,335
201 er23 | 91,130 0 91,130
01 At2teltl 67,772 0 67,772
OBAHE N2 HIZ(7E)
5,000,000& *14] 5,000
OBHHE 2 ARSE o FAH|E
300,000 +7HE 2,100
Ozad 82 4 &334 23(838)
300, 0002474 2 2,100
oML} BB 2E(32 S)
200,000& 704 & 1,400
OFHUH 0812 ~2ZE0(35)
656,000& * 12X 7,872
OFYEH =& 6.840
Uxg =8| AR
160,000 »2CH+7IH 2,240
-SAHEX 23,0003 =208t A 70 2 3,220
-SAPDI &Y 150,000 +7HE 1,050
-SAD| E™ 330,000& %12 330
Odg= 4,480
-g)| dER 30,0003 +8LH*7H & 1,680
- gz 25,0003 *16CH+7IHZ 2,800
OF R &2l 9,500




SA ZEel2
Zu: FENAEE
ol FEdE 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-H2 Uil WelR 3489
2,000,000& %12 2,000
=83 F4AEY 500,000& 12 500
“EANEY A= 1,000,0002 +7HE 7,000
OF U etd el 11,280
SEI|oHE R AR
300,000& * 12043 3,600
-AaY4H 3Esr2
300,000&* 1204 & 3,600
)| BELE
120,000 * 1204 2 1,440
21| BALLZ
220,0003 12043 2,640
OFHHH &2858 M 7,200
-E2E cIE2 1,000 *3,000K 3,000
-EE8 s 50,0003 * 107K 500
-E2E8 S5 5002 *5,000H 2,500
EUSE YR ALY
1,2002 1,000 1,200
OFEHH W2 2223 A
10,0002 *15+1,000& 10,000
02 35244l 23,358 0 23,358
OFHHEH 524l 23,3%8
-2 3,000,000 70 & 21,000
-dote 2= 300,000 742 2,100
—A YO Bl 48,0002 12 48
-RAgs A 30,0002 +7HE 210
405 AHaHE S 191,535 191,535
01 It =S F = 191,536 191,535
OFHME H2 FII|(405)
191,534,800 *14] 191,535
MNASAXMI & FHAAS LA 2,915,266 2,531,507 383,759
= 725,480
Al 2,189,786
SEZZAE 1,269,208 1,332,953 AB3,745
S3STEANY 1,269,208 1,332,953 N6B3,745
101 @124H| 1,240,652 1,304,417 A\B3,765
MU IIRIMZZENSES 1,240,652 1,304,417 A\B3,765
O33ZZAMY 1,240,652
ekl 976, 0452 x 190 «3E 23] 1,112,692
- 282 1,112,692,000& x11.5% 127,960
201 Ler23 | 3,55 3,536 20
01 At22t2lt] 3,556 3,536 20
Odgt=3ZH| 2,000




SA ZEel2
B HASANT U HUHE LX2IKE
el SS22AE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SESIZAIY HRFA AIR2 ]
1,000,000 *23] 2,000
o2zl 1,556
“BRIRAIY HLEF SIOHAY|
9,000 #4H *42 x 1201 2 «00% 1,556
206 MH=HI 25,000 25,000
01 MHZH| 25,000 25,000
OZ2222AMg I
25,000,000& x 14 25,000
Lt KA 1,646,058 1,198,554 447,504
S 725,480
Al 920,578
2AcldE g 5,300 23,300 18,000
201 fer=3| 4,300 7,300 A3,000
01 Al 22| 4,300 7,300 £3,000
SIEER=1] 4,300
~MeiURiel SHSAM BINR S ME
110,000& »30% 3,300
-2uelFM 22222 S) MH
2,0003 %5002 +13] 1,000
202 04| 1,000 1,000
01 2LHA b 1,000 1,000
OXNYRe SEBAN 938 2 293
&t 200, 0002 x2& *23] *50% 400
Oddg NSFLel SHEE A48 &4
200,000 *32 %25 50% 600
NAES AR XA (HEALY) 258,614 22,500 236,114
201 er2 3| 700 1,700 21,000
01 AtR2t2|HI 700 1,700 A1,000
OZX2IAE 2812 88 SARE 34
=g 70,0002 x5 *23] 700
202 04| 800 800
01 =LHO LI 800 800
OgXelEE J12t g2l g4 ot
200,000& x2E *22] 800
307 elztol & 226,614 226,614
02 2IZHBYAIHE & 226,614 226,614
OxR& WA S| YSHAE (S E X2
) 453,227, 0003 * 141 50% 226,614
308 AtXIEHMSOIE 30,500 20,000 10,500
13 SI[2SOHE & EAS A 30,500 20,000 10,500
ousted el S AHE XIS 20,000
-l B AN (S ZHE D)
20,000,000 * 100 £ 20,000




2A:

EEHOI )

B HASANT U HUHE AX2IX
el eI XIZAAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXJ|IHHE Hd=UHst Hefstt SR
10,500,000& » 14 10,500
XNHESSH LR2IA (HEALL) 1,203,634 850,828 362,806
S 722,180
Al 481,454
101 21AH| 1,183,634 834,828 348,806
== 710,180
Al 473,4%4
M ORNZZ2NSE S 1,183,634 834,828 348,806
OelAt| 1,263, 7953 x140H x3E 22 1,061,555
< 636,933
Al 424,622
@ZIN L==h= Y= 1,061,555,000& *11.5% 122,079
= 73,247
Al 48,832
206 M=H| 20,000 16,000 4,000
== 12,000
Al 8,000
01 MHZHI 20,000 16,000 4,000
OMZHI 20,000,000 *14{ 20,000
& 12,000
Al 8,000
dgE MESE YLTelEAd= N2 ALY 3,300 19,200 A15,900
= 3,300
307 212+01& 3,300 19,200 15,900
& 3,300
02 QI AAEE X 3,300 19,200 215,900
Odgd Asd sydiicZed=s NEFAL
3,300,000 *14] 3,300
< 3,300
AEE ASISEAIL(HEALY) 174,300 174,300 0
307 @I2t01 & 174,300 174,300
02 QIHEHAIEE X 174,300 174,300
OulsE AlslseEs A
174,300,000 * 14! 174,300
HULINAIAL X SAHA BF 910 1,340 A430
201 el 910 1,340 A430
01 At22t2lt] 910 1,340 A430
AN HEL & SAEL s Wi A
= 7,000& *12]x1002 700
OXYotEY Wx S0 M
110,000 *1H 110
OXYAMNA WEHE 25 72
100,000& %12 100




SA ZEel2
B RSEE g As)
el P EH Jlgtxy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ALy Ag 23 3,757,226 1,918,018 1,839,208
=S 2,907,120
Al 850, 106
“EM J|gtx Y 3,757,226 1,918,018 1,839,208
== 2,907,120
Al 850,106
QIE Jigtxd 52,546 64,442 A11,89%6
201 =3 15,346 16,042 VANGS
01 At2t2lt] 15,346 16,042 VANGS
Ogit=3H| 11,550
- EH EE3, AL S A= M
500,000 22 1,000
SOITEB Y WAL SIS M
110,000 *5H A 550
-HYAMN Y XA
10,0002 =1, 0004l CH 10,000
OF=F 1l 1,55
OITEY QARET SIYAY|
9,000 2 x4 *42 x 1201 2 «00% 1,556
O=g=4 2,240
IRENYHEREOS) 5|0 BALL
70,0002 +624x23] 840
—QIZOIZDIA M| RIB| Bl0| HA L
70,0002 102 +23] 1,400
202 04| 1,200 400 800
01 =LHOHI 1,200 400 800
OUTHMY ADEX BABE
200,000 x3H *23] 1,200
301 EtE NS 36,000 48,000 A12,000
14 IIEt2 83 36,000 48,000 212,000
oY st deord s A& 36,000
-18|X X&= 200,000 +60H 12,000
—223|Xt X&=3 200,000& *60H 12,000
-33Ixt &= 200,000& *60H 12,000
A28 d&=ots N 524,000 333,000 191,000
= 300,000
Al 224,000
301 EtE N = 524,000 333,000 191,000
= 300,000
Al 224,000
4Bt 23 524,000 333,000 191,000
OFHR=E ZE=ol=s A&
524,000,000 * 14! 524,000
== 300,000




A "ol
T YD oA Aal
CHol: QIR J|ERA (B2l E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 224,000
NERS OGREINE 23kl XA 220,680 140,576 80, 104
= 147,120
Al 73,560
01 YerewE 220,680 140,576 80, 104
= 147,120
Al 73,560
14 DI a3 220,680 140,576 80, 104
OUESS - LIS 22X2 X
220,680, 0002 14! 220,680
= 147,120
A 73,560
HEE 2= 2,000,000 1,380,000 620,000
= 1,500,000
Al 500,000
01 YereE 2,000,000 1,380,000 620,000
= 1,500,000
Al 500,000
2 ABI 2R E 4 Z(HAAS, L) 2,000,000 1,380,000 620,000
OXYFE SH=XIIE N2
2,000,000,0008!#14] 2,000,000
= 1,500,000
A 500,000
ERIERN 960,000 0 960,000
= 960,000
301 YerewEa 960,000 0 960,000
= 960,000
2 AFBIERE4EH S (HAAS, NLH) 960,000 0 960,000
OFelE BM)I2 Y
00,0002 * 128 +800% 960,000
= 960,000
CH2st X2 Al 468,946 507,726 £38,780
| 208,839
= 91,103
Al 169,004
Chest, 2= =X =3 468,946 507,726 £38,780
| 208,839
= 91,103
Al 169,004
CH2SHS X8 %, 124 118,640 £23,516
= 28,452
Al 66,672
01 YerewEa 3,508 6.600 £3,092
= 1,33




DA BRI
= =2 NE A
gel: OEst, =0 =X 38 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,176
02 AR 2HHLFS(HAAS, XNLHE) 3,508 6,600 A3,092
OZ=012A =58FHS HIs A
3,508,000 14! 3,508
== 1,332
Al 2,176
307 elztol & 91,616 112,040 N20,424
= 27,120
Al 64,49%6
1 AMEISXAEEXS 91,616 111,440 19,824
OUes Qs 2
15,800,000 * 14 15,800
= 6,000
Al 9,800
OZ =012t ARER0| 2
12,640,000 * 14| 12,640
& 4,800
Al 7,840
OXobte oiglold UE3tolafu s 29
11,376,000 * 14 11,376
= 4,320
Al 7,0%
OZE0IRIN 220 HER 2
31,600,000 * 14| 31,600
& 12,000
Al 19,600
OCtRsty axye
10,500,000 * 14 10,500
OU=ReE FESSH A
5,500,000 * 14 5,500
Ol Y2uSIEA MRME S+
50,0002 7 * 122 4,200
MHgE & MHYE S gE2usAHlA X2 125,469 202,562 AT7,093
) 70,094
& 21,028
Al 34,347
307 glztol & 125,469 202,562 AT77,093
Jl 70,094
S 21,028
Al 34,347
10 Al2ISTIAIEEE 22X 125,469 202,562 AT77,093
OU=2etE LdEUSAY
125,469,000 * 14| 125,469
Il 70,094
== 21,028




DA BRI
M O=2e X2 At
& O2s&t, =0 =X 38 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 34,347
015 Jt=2d8 =4 60,430 35,031 25,39
| 33,760
& 10,128
Al 16,542
307 QI2Hol ™ 60,430 35,031 25,399
| 33,760
& 10,128
Al 16,542
10 Al SXAEHE2EHIEX 60,430 35,031 25,39
OCH2eItE 018N I=SSZ LAY
60,430,000 & 14! 60,430
J| 33,760
& 10,128
Al 16,542
Ch23tE HEHANZEE XA 108,984 78,680 30,304
J| 60,885
& 18,265
Al 29,834
307 212+01 A 108,984 78,680 30,304
| 60,885
= 18,265
Al 29,834
10 Al ZXAIEHE 2FHIE X 108,984 78,680 30,304
OUReIIE KHH AL AL
108,984,000 & 14! 108,984
| 60,885
= 18,265
Al 29,834
ZE0|2UX SHAAMHIA XA 61,039 32,813 28,226
| 34,100
= 10,230
Al 16,709
307 QIZ2t01 A 61,039 32,813 28,226
| 34,100
= 10,230
Al 16,709
10 Al = XA EHE2FHIE X 61,039 32,813 28,226
OZE0I2X SHAMHIA ALY
61,039,000 14! 61,039
| 34,100
& 10,230
Al 16,709
ZE0|8IA HeFdst XN&A 17,900 20,000 22,100




DA BRI
= =2 NE A
tel: CEst, 2= =X 58 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 10,000
=S 3,000
Al 4,900
307 @I2to| & 17,900 20,000 2,100
Jl 10,000
= 3,000
Al 4,900
10 Al SAAEEHE 22X 17,900 20,000 A2,100
OZ&012Xt St
17,900,000 * 14! 17,900
Il 10,000
= 3,000
Al 4,900
g =X 58 602,173 564,892 37,281
Il 366,252
s 89,461
Al 146,460
Hd=Xl s 602,173 564,892 37,281
Il 366,252
= 89,461
Al 146,460
Sl 0l0d EsAlE 2EXd 316,722 283,563 33,189
Il 224,194
= 35,137
Al 57,391
301 EtE N = 20,000 0 20,000
) 20,000
01 AR 2EHSHS(RDNEXRTHE) 20,000 0 20,000
O==llch 01F0d 2ESAIE EANES
20,000,000& * 14| 20,000
Jl 20,000
307 212+01& 296,722 283,563 13,159
Jl 204,194
=S 36,137
Al 57,391
10 Al SXAEEE 22X 296,722 283,563 13,189
O=gUlol 01F0d ESAIE 23]
273,328,000 x14] 273,328
7l 204,194
= 26,253
Al 42,881
O=Eduldh 0lF0id ESAIE(SH] FIHX
) 23,394,000 * 14| 23,3%
& 8,884
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EEHOIF )

B 0" =X SA
=@t E=sAl & (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 14,510
ZdT|ol OlI=HA &g 2EXA 268,102 281,329 A13,227
| 138,275
& 49,302
Al 80,525
307 QI2Hol ™ 268,102 281,329 A13,227
| 138,275
& 49,302
Al 80,525
10 Al SXAEHE2EHIEX 268,102 281,329 A13,227
OZATB) 01Z0i4 HEs 29
247,512,0002 14 247,512
J| 138,275
& 41,483
Al 67,754
O=g1lol 0104 MEA(ZHl FIHKA)
20,590,000& * 14! 20,590
= 7,819
Al 12,771
ZST0IoH 0|=0d ESAIM JIsEZ 5,404 0 5,404
| 3,783
= 486
Al 1,135
402 CI2ER=0l A 5,404 0 5,404
| 3,783
= 486
Al 1,135
02 QIZEXH2 A 22 (01 & W) 5,404 0 5,404
O=g1lol 010 ESAIE JIsE22H|
5,404,000 *1JH 2 5,404
| 3,783
= 486
Al 1,135
Z30JoH OlIF=0A Ald 29 FIt A& 11,945 0 11,945
= 4,536
Al 7,409
301 LB NZ 11,945 0 11,945
= 4,536
Al 7,409
02 MBI EEEHS(HUAS, NLTHEA) 11,945 0 11,945
OZ2A5H OIFCIHAILE BAT SELY(
A, 12H) 11,945,000 3 14! 11,945
& 4,536
Al 7,409
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881,000
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945,500
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168,000
168,000

881,000
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0
23 7Yl XJAY
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Al

87,100
82,000
5,100

50,000

37,100
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87,100
82,000
5,100

50,000
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02 MBI 2EHSFS(HAANS, XLHE)
Ots0IHd =023 28dl X2
S M0l & 87,100,000& » 14

0
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87,100
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82,000

5,100

50,000

37,100

hoH
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1,654,800
1,427,000
142,800
85,000

1,903,000

A248,200

308 AtXIEMSOIE

o

1,654,800
1,427,000
142,800
85,000

1,903,000
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A
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